Limiting Reactants Worksheet
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1. If 108 grams of aluminum combines with 89 grams CdO to form Al2O3 and Cd, find the limiting reactant. 

 

 

 

 

 

 
 

 

2. If 144 g C and 2140 g KIO3 react to form KI and CO2, what is the limiting reactant? 

 

 

 

 

 

 
 

 

3. 111.6 grams of iron is burned in 96 grams oxygen to form iron (III) oxide.  Determine the limiting reactant.  

 

 

 

 

 

 
 4.
Suppose 640 grams of bromine gas is reacted with 6.0 grams 
hydrogen gas.  What is the product?  What is the limiting reactant? 

 

 

 

 

 

 
 

 

5.
Suppose 115 grams of sodium reacts vigorously with 125 grams water 
to form sodium hydroxide and hydrogen gas.  Find the limiting 
reactant.  

 

 

 

 

 

 

 

 

 

 

